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SECTION A
Q 1(a) 
Define the # define with a suitable example.
               
[2]         

      (b) 
Write the names of the header files to which the following belong:








[2] 
(i) 
random ( )


(ii)
isalnum ( ) 

       (c)   Rewrite the following program after removing the syntactical errors   

             (if any).Underline each    correction. 



[4]

#include <iostream.h>
struct Pixels
{ 

int Color,Style;
}
   Void ShowPoint(Pixels P)

   {
         cout<<P.Color,P.Style<<endl;
   }



(1)

void main()

 {

Pixels Point1=(5,3);

ShowPoint(Point1);

Pixels Point2=Point1;
Color.Point1+=2;

ShowPoint(Point2);

   }


  (d)  Find the output of the following program: 



[4]

#include <iostream.h>
void Changethecontent(int Arr[ ], int Count)

{

for (int C=1;C<Count;C++)

Arr[C-1]+=Arr[C];

}
void main()

{

int A[]={3,4,5},B[]={10,20,30,40},C[]={900,1200};

Changethecontent(A,3);

Changethecontent(B,4);

Changethecontent(C,2);

for (int L=0;L<3;L++) cout<<A[L]<<'#';

cout<<endl;

for (L=0;L<4;L++) cout<<B[L] <<'#';

cout<<endl;

for (L=0;L<2;L++) cout<<C[L] <<'#';

    } 




(2)

(e)   In the following program, if the value of N given by the user is 20, what   

        maximum and minimum values the program could possibly display
[4]

#include <iostream.h>


#include <stdlib.h>
void main()
    {



int N,Guessnum;
randomize();
cin>>N;
Guessnum=random(N-10)+10;
cout<<Guessnum<<endl;
      } 

(f) Give the output of the following program segment                                        ( Assuming all required header  files are included in the program ) :









(4)


int m=50;

void main( )




{ 

int m=25;

{ int m= 20*:: m; 

cout<<”m=”<<m <<endl;

cout<<”::m=”<< ::m <<endl;

 }


    (3)

SECTION B
Q 2 Answer the questions (i) to (iv) based on the following: 
                [5]      

     class MNC

    {


char Cname[25];


protected :


char Hoffice[25];


public :



MNC();


             char Country[25];


void Enterdata();
        void displaydata();

};
class Branch :public MNC

{
long NOE;


char ctry[25];


protected :


void Association ();


public : 


Branch();


void add();


void show();

};

class outlet :public branch

{
char state[25];


public:


outlet();


void enter();

       void output();

};


(4)

1. Which class’s constructor will be called first at the  time of 
               declaration of an object of class outlet?

2. How many bytes does an object belonging to class outlet require?

3. From the following , which cannot be called directly from the object 
of class outlet :



void Association();



void enter();
void show();

4. If the class MNC is inherited by using protected visibility mode, then   

           name the members which are  accessible through the functions of 
           outlet class.

5.  Name the types of inheritance used in above code.
Q 3 Write a function to compute the distance between two points and       

        use it to develop another function that  will   compute the area of    

        the triangle whose vertices are A(x1, y1), B(x2, y2),and C(x3, y3).    

       Use these functions to  develop a function which returns a value 1 if   

       the point (x, y) lines inside the triangle ABC, otherwise a value 0.  

  








[5]

Q4   Create a class angle that includes three member variables:           

         an int  for degrees, a float for minutes, and a char for the 
         direction letter(N, S, E, or W). This class can hold either a 
         latitude variable or a  longitude variable. Write one member 
         function to obtain an  angle value (in degrees and minutes) 
          and a direction from the user, and a second to display the 
         angle value in 179859.9’E format. Also write a three–argument  

         constructor. Write a main() program that displays an angle  

         initialized with the constructor, and then, within a loop, allows 
         the user to input any angle value, and then displays the value. 
         You can use the hex character constant ‘\xF8’ which usually 
         prints a degree (°) symbol.


  

[5]

    (5)

Q 5 The total distance travelled by vehicle in 't' seconds is given by      

        distance =ut+1/2at2 where 'u' and 'a' are the initial velocity     

m/sec.) and acceleration (m/sec2). Write C program to find the    distance travelled at regular intervals of time given the values of     'u' and 'a'. The program should provide the flexibility to the user     to select his own time intervals and repeat the calculations for    different values of 'u' and 'a'.
       Description:

       The total distance travelled by vehicle in 't' seconds is given by    

      distance =ut+1/2at2 where 'u' and 'a' are the initial velocity (m/sec.) and acceleration(m/sec2).



 [5]

Q6 Create a SavingsAccount class.  Use a static data member  
         
  [5]                                                                                                                            annualInterestRate to store the annual interest rate for each                      of the savers.                                                                                                                                                    Each member of the class contains a private data member savingsBalance indicating the amount the saver currently has on   deposit. Provide member function calculateMonthlyInterest that calculates the monthly interest by multiplying the balance by   annualInterestRate divided by 12; this interest should be added to savingsBalance. Provide a static member function modifyInterestRate that sets the static annualInterestRate to a new value.
   Write a driver program to test class SavingsAccount. Instantiate two different objects of class SavingsAccount, saver1 and saver2, with  balances of               [image: image1.png]


2000.00  and [image: image2.png]


3000.00, respectively. Set the annualInterestRate to 3 percent. Then calculate the monthly interest and print the new balances for each of the savers. Then set the annualInterestRate to 4 percent, calculate the next month's interest and print the new balances for each of the savers.




(6)

   Q 7 To perform the addition of two matrices       Description:program takes the two matrixes of same size and performs the addition an also takes the two matrixes of different          sizes and checks for possibility of multiplication and perform multiplication if possible.





               [5]
Q 8 To read the two complex numbers and perform the addition and 
        multiplication of these two numbers.

Description:

     In this program the complex number means it contains the two   

      parts . 
      first one is real part and second one is imaginarypart(2+3i).by 
      taking these two complex numbers we can perform the addition 
      and multiplication operation.




[5]

      SECTION C
Q 9 Write a function in C++ to count the number of alphabets present in a  

        text file "NOTES.TXT".     




               [5]

Q 10 Write a C++ program to copy one file (Name Source.txt) to another file

      (Name Target.txt) but make sure that source file must be present and    

       target file must not be present in the disk. 



[5]

Q 11 Observe the program segment given below carefully and answer the   

          question  that follows :





[5]


class school

{  private :

   char name[25];

    int numstu;

  public:

void inschool( );

void outschool( );

int retnumstu( )


{                     return numstu;        }

};



   (7)

void modify(school A)

{ fstream INOUT;

INOUT.open(“school.dat”,ios::binary|ios::in|ios::ate);

school B;

int recread=0, found=0;

while(!found && INOUT.read((char*)&B,sizeof(B))

 {     recread++;

   if(A.retnumstu( )= = B.retnumstu( ))  

    {                                        

                                      ________________//missing statement

        INOUT.write((char*)&A,sizeof(A));


Found=1;

     }
else


INOUT.write((char*)&B,sizeof(B));

     }

if(!found)

cout<<”\nRecord for modification does not exist”;

INOUT.close( );




}
If the function modify( ) is supposed to modify a record in file school.dat with the values of school A passed to its argument, write the appropriate statement  for missing statement using seekp( ) or  seekg( ), whichever needed, in the above code that would write the modified record at its proper place.

Note: Rewrite the code with the appropriate missing code.

Name: Subhash Chandra Pal

ID
: callmeshubh@gmail.com


Note:


This question paper is divided into 3 sections.


Section A consists of 20 marks.


Section B is of 35   marks each.


Section C is of 25  marks each.


Answer the questions after carefully reading the text.


Give example wherever required.

















1. 6

